
5/8" Flat Washer (Bigger)
This End Up

1/2" Flat Washer (Smaller)

Thank you for purchasing a Rigid Hitch product

Choose mounting location inside trailer. Use bracket as a template and mark the 1.
location of the four mounting holes. Ensure screws will not go through outside skin 
of trailer. 
Using a 1/8" drill bit drill four pilot holes.2.
Using the four #12-11 x 1 1/4" Phillips drive screws provided mount the bracket as 3.
shown above.
Determine which carriage bolt best fits your spare tire and insert it into the bracket 4.
seating it into the diamond at the bottom of the slot. Secure the carriage bolt with 
the 5/8" flat washer, the 1/2" lock washer, and the 1/2" hex nut.
Mount the spare by inserting the carriage bolt into one of the lug nut holes on the 5.
wheel. Secure the spare with the 1/2" flat washer and the 1/2" wing nut.

Note: There will be excess hardware depending on size of spare

(4) #12-11 x 1 1/4" Screws
(1) 1/2-13 x 6" Carriage Bolt
(1) 1/2-13 x 4 1/2" Carriage Bolt
(1) 5/8" Flat Washer

(1) 1/2" Lock Washer
(1) 1/2" Hex Nut
(1) 1/2" Flat Washer
(1) 1/2" Wingnut

REV.

TOOLS REQUIRED:
DRILLS: 1/8"
WRENCHES: 3/4" Phillips screw driver

This product is intended for use as a spare tire carrier and should not be used for any other purpose.                

GIVE THIS INSTRUCTION SHEET TO VEHICLE OWNER

3301 WEST BURNSVILLE PARKWAY
BURNSVILLE, MN 55337

Spare Tire Carrier

Hardware Package:

12/24

RHTC-40
For mounting inside an enclosed trailer

Read all instructions carefully before installing.


	Sheet1
	Drawing View5


